Al

Ol &F A

Al A

A NSEM
33 sus 548 XA
el sws 018 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wWSF M 132,925,502 113,114,050 19,811,452
= 10,721,070
[ 13,419,000
Jl 7,502,000
EN 728,000
= 99,449,232
= 1,106,200
Hsus 54 XN& 87,118,592 76,496,610 10,621,982
= 10,632,000
[ 13,419,000
Jl 7,502,000
< 54,459,392
= 1,106,200
tsws 018 K& 31,384,037 31,050,915 333,122
= 8,494,000
Il 7,502,000
= 15,185,037
= 203,000
HELSOISX A 6,383,000 9,944,000 A3,561,000
= 6,180,000
= 203,000
101 21A4H| 25,000 25,000
04 JIZtN2Z2 XS+ 25,000 25,000
OJIZEHZ22 X 21244| 25,000
201 =3 518,000 520,000 A2,000
01 At22t2lt] 18,000 20,000 22,000
Otsus ol2adst 18,000
2 52434l 500,000 500,000 0
OEEE 2=USIIE AAY & 2BHH R
A2tel 29 500,000
207 ARl 290,000 0 290,000
=S 87,000
= 203,000
02 MAHHZHI 290,000 0 290,000
Osdg Z=uSIHE AL Jls A 290,000
[ 87,000
= 203,000
301 EtE NS 300,000 500,000 A.200,000
03 AR 2EHFS(XILMHE) 300,000 500,000 200,000
O&Ek dJIsxd usH| A& 300,000
308 AXIHSO0IA 5,250,000 8,924,000 A\3,674,000
01 HAHHBSEEXS 5,250,000 1,350,000 3,900,000
OO0{El0l EAE HAH| X2 (ZelH) 810,000




SM: DM
M HEDS 54 A
&elr tsus olg N& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Oof2lol Zad biAsl N(223) 4,440,000
Lol S WEnE 018 g43H(=4l) 13,500,000 12,000,000 1,500,000
) 7,502,000
& 5,998,000
308 AtXIEMSOIE 13,500,000 12,000,000 1,500,000
Il 7,502,000
= 5,998,000
01 AXEH B EES 13,500,000 12,000,000 1,500,000
Okol S s 018 g4zt 13,500,000
D) 7,502,000
LS 5,998,000
Z0ISAHE 24 1,470,637 1,144,743 325,894
201 Zet=d] 70,637 70,637 0
01 Al2teldl 70,637 70,637 0
OBLZAISTRHE BHAAY 2L A
o Xt 70,637
307 212t01 & 1,400,000 1,074,106 325,894
05 2I2+?& = 1,400,000 1,074,106 325,894
OsgZ90IsAaNE =29 1,400,000
wst olsEe sd 1,301,200 1,149,072 162,128
308 XXM SOIA 1,301,200 1,149,072 152,128
01 MRS LExXS 1,301,200 1,149,072 162,128
OS8us+t 2EAA 1,240,000
OSEDE4E SYTH (HSHAHI) 61,200
SgussH 2340 2X(=HI) 2,040,000 1,985,500 54,500
= 2,040,000
308 XXM SO0l 2,040,000 1,985,500 54,500
= 2,040,000
01 AXEH B EES 2,040,000 1,985,500 54,500
OSgusSsH 28 2x 2,040,000
= 2,040,000
SENSSHEAER(ZHI) 1,019,200 867,100 162,100
= 784,000
= 235,200
403 MR EHMSAE01H 1,019,200 867,100 162,100
= 784,000
LS 235,200
01 REXIEHRIAt 2 2 2 1,019,200 867,100 162,100
ORSAT OISKY LT 1,019,200
= 784,000
= 235,200
MaHA £ XI&(=2H]) 5,670,000 3,960,500 1,709,500




2N DEFMY
M. H=znE 84 A
&elr tsus olg N& (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 5,670,000
403 XIS HMSKHE0IA 5,670,000 3,960,500 1,709,500
= 5,670,000
01 HXISHHAE2ER 5,670,000 3,960,500 1,709,500
OMAHA & X 5,670,000
= 5,670,000
28 13 ¢ =4 45,585,690 37,420,730 8,164,960
= 195,000
= 7,031,000
& 37,523,690
£ 836,000
ANIHA 2te A 14,055,000 11,605,000 2,450,000
307 212+01™ 12,575,000 11,370,000 1,205,000
02 QIZHBAAIHE R 75,000 0 75,000
O2+3AMA nEetd us X3 75,000
© 2 HEXS 12,500,000 11,370,000 1,130,000
OAIIHA HId HEXIE 12,000,000
OA2IBA ZGMBIAMSE XI& 500,000
402 QI X201 ™ 1,480,000 0 1,480,000
01 QIS AIE B A& (XEHITHE) 1,480,000 0 1,480,000
OAIIHA CHEIXE X2 1,480,000
B SRS (ZE) 4,761,700 4,761,700 0
= 2,801,000
& 1,960,700
308 AXISHMSO0IA 4,761,700 4,761,700 0
= 2,801,000
& 1,960,700
01 AIXISHNBAEERZ 4,761,700 4,761,700 0
OAMUsSHEHA BIXId 242 X
2 4,761,700
= 2,801,000
& 1,960,700
HASYX DA XAMS(ZS) 4,230,000 2,783,000 1,442,000
= 4,230,000
403 XX SHHMS K201 4,230,000 2,788,000 1,442,000
= 4,230,000
01 AXISHHA2E X 4,230,000 2,788,000 1,442,000
OAMUsHEHA SEXOX XA 4,230,000
= 4,230,000
AMUsSHEHA 23 ALY 20,171,440 16,111,440 4,060,000
T 19,335,440
g 836,000
201 B2 AY| 600,000 0 600,000




2N DEFMY
M sus |84 &
el 228 NE 2 54 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 180,000
= 420,000
02 S5=2g4l 600,000 0 600,000
OFHUE LHHA 2BYBAALY 2
Al2tell 600,000
= 180,000
= 420,000
207 ARl 365,000 295,000 60,000
== 139,000
= 216,000
01 H7ESHI 365,000 295,000 60,000
OMUSHEHA 25EUES SEES 355,000
< 139,000
= 216,000
307 elztol & 1,000,000 1,000,000
ETEAELS 1,000,000 1,000,000
OAUHSOHEHA FSABIAMNE I3 1,000,000
308 XM SOIE 17,016,440 13,816,440 3,200,000
s 16,816,440
= 200,000
01 AXEH B EES 17,016,440 13,816,440 3,200,000
OAUHSHEHA HiI=dd HEXIR 16,500,000
OZEE MHA 2H(SX22/d]) 516,440
= 316,440
= 200,000
403 MR HHMSAHE01H 1,200,000 1,000,000 200,000
01 A= 2L 1,200,000 1,000,000 200,000
OAILHS O EH A THEIXHX & 1,200,000
H=usE AE 28 At 760,000 648,130 111,870
308 AXIHMSO0IA 40,000 0 40,000
AXEHBLEES 40,000 0 40,000
OTUAl HS WSS +SAHA 2880 X
A 40,000
401 Al HIZL 01| 500,000 100,000 400,000
01 Al&H| 500,000 100,000 400,000
Ooux s38d8 25 500,000
403 MR HHMSAHE01H 220,000 548,130 N328,130
01 MXIHHA 22 220,000 548,130 A328,130
OWAUTISIHAHDIE SZHA 20,000
OX=8 ANEHASHE A4 65,000
OSEXS ADEHASYE Ald 27,500
Ok 40,000

15,000




2N DEFMY
M sus |84 &
el 228 NE 2 54 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odad ANEHAERY AL 50,000
O s3% £X 2,500
SAl 2 X2 4 X (=4]) 195,000 214,500 19,500
= 195,000
308 XXM SOIA 195,000 214,500 219,500
= 195,000
01 XN EES 195,000 214,500 219,500
O=HAl 2 X248 X1 195,000
= 195,000
EHAl 23 AMY 1,331,550 1,291,960 39,590
201 fer=3| 8,140 9,050 A910
01 AtR2tc|Hl 8,140 9,080 A910
OAl 2723 & HSWS FIIRIAZ
288 8,140
307 glztol & 82,500 82,500
02 2B YA HE L 82,500 82,500
O=AIZF=gA At etotsStal X2 82,500
308 AXIHS0IA 878,410 932,410 £54,000
01 HRHHBSEELS 878,410 932,410 54,000
OSEMHUEAISOISHFUS 10,000
OECHAIZ=SAIL HEU2 7,500
OBHEEA 2SN 464,910
OYQIEAl 2XIHR 220121 ALY 360,000
OEHZ HOIAI2EZAK OHF U At
2u= K& 12,000
OOLAAl HOIEHAl 24+BALL 285 K& 24,000
403 THXI M SAH=01 ™ 362,500 148,000 214,500
01 AXISHHA=2EE 362,500 148,000 214,500
O Al LHEHIXE X1 150,000
OHAl IEHAIIEZX WHAS 200,000
OXgs A3t X 12,500
SAIHA 2 A 81,000 81,000
308 AtXIEHMSOIE 81,000 81,000
01 AXEH B EES 81,000 81,000
OBANHA Xtg 2IISHX XS 81,000
wWEMA & FANSY == 10,148,865 8,024,965 2,123,900
= 1,943,000
[ 6,388,000
= 1,750,665
= 67,200
CHHA 2EMA HE 126,000 111,000 15,000
403 AXIEHMSA=0ld 126,000 111,000 15,000




2N DEFMY
M (ZDE S48 X
CI9l: DEHH L BADSY =S (cre:xigl)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
01 AXISHHA =22 & 126,000 111,000 15,000
OL&HA 2EHA WE AIHEY &5H
F& £X X& 126,000
gtsdle 25 At 240,000 0 240,000
= 240,000
403 X SHHMSAH=01H 240,000 0 240,000
= 240,000
01 XIS A=E £ 240,000 0 240,000
OAHES ssdH 2EA 240,000
= 240,000
ssgel A 644,265 644,265 0
== 577,065
= 67,200
308 AHXIHMSO0IA 644,265 644,265 0
[ 577,065
= 67,200
01 AXEH B2 LS 548,265 548,265 0
OFCHAl Btsgol X3 548,265
18 SIS0t oA AS A 96,000 96,000 0
Osdd ggasg a 96,000
= 28,800
= 67,200
sZE8 us2g(2S) 2,871,500 3,003,100 131,600
[ 2,551,000
= 320,500
308 AHXIHMS0IA 2,871,500 3,003,100 A131,600
= 2,551,000
=S 320,500
01 XN BELES 2,871,500 3,003,100 A131,600
O338 dAXA(58R) 719,400
= 654,000
< 65,400
O338 HAXR(sES) 2,152,100
[ 1,897,000
= 255,100
238 HAXRA(ZE) 3,516,900 2,578,500 938,400
= 2,885,000
=S 631,900
308 XXM SO0IH 3,516,900 2,578,500 938,400
= 2,885,000
== 631,900
01 XN BSELS 3,516,900 2,578,500 938,400
O338 HAXA(RER) 3,516,900
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A NSEM
. WSotd & NS 2l
el NEetH S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EN 228,000
=S 1,700,000
01 A2 2L 1,928,000 785,400 1,142,600
OuSHEAI LA 228,000
ES 228,000
OO0IEXH ALl ts &A1 AIAE EXIAY 90,000
OTWAIRE BAl A58 AXI(Z2FA) 30,000
O2026 Eiet =MEURI R s&Eal SS=Kt
EPS 700,000
OHHAl LEDIIZAIS S AIE AL 50,000
O&OF W2 HH| At 200,000
O&FS MEF SHUXZ Al EIHE ALY 50,000
OA& WEAIEZESME X 10,000
OAE HUXZE &XI At 300,000
O=24 Hul 3¥UXZ AZNLAL 250,000
Otlatz LN SEEEH EX 20,000
nsS FAH XS 328,000 248,000 80,000
307 elztol & 328,000 248,000 80,000
02 2IZHBYAIHE & 328,000 248,000 80,000
OSEIE2AN S4=A=7 &38| N2 17,000
Oy sA400LISe gsH] X 11,000
Ousetdus A 824l S XA 300,000
nEX 2HEG AAEE 2dEt AFY 89,070 57,300 31,770
= 89,070
308 AtXIEMSOIE 89,070 57,300 31,770
= 89,070
01 XN BSELES 89,070 57,300 31,770
OLE2dA 28HA Adlghe gdat Al
2 (=4l) 89,070
= 89,070
CIONAIE &F 37,167,920 31,643,500 5,524,420
ES 500,000
< 36,667,920
SIMNIZ HXIAE (HEAY) 2,568,500 3,415,600 A\BA7,100
401 AIEHIX 20HH 800,000 1,600,600 800,600
01 A28l 800,000 1,600,600 A800,600
Oslduxtz &x(%) 800,000
403 AXIEHHSAH=201H 1,768,500 1,815,000 A\46,500
01 AXEHM A =2 £ 1,768,500 1,815,000 A46,500
O3lduxtz &XI(AZ) 1,768,500
WEAD ZE R NLAI (HEALS) 647,300 781,000 A133,700
401 Al HIZL 201 200,000 284,000 284,000
01 Al&H| 200,000 284,000 84,000




= (Sl &)
L ERI(EIH) - HIRAKY - BES of v e HIDE2
0 R2 R IMHE(E) 200,000
AEHSA=01A 447,300 497,000 249,700
IX=22L 447,300 497,000 A\49,700
RS R INA(AR) 447,300
HE0IES 7 HEAIS (HEALY) 2,639,000 4,518,000 21,879,000
tHIS =01 E 2,639,000 4,518,000 21,879,000
IX=2XE 2,639,000 4,518,000 A1,879,000
23579 e 2,639,000
ST JH (HEAY) 1,103,120 1,378,900 A275,780
AR SHHSAHE01E 1,103,120 1,378,900 A275,780
AR SRR E 2 2 1,103,120 1,378,900 A275,780
Oke2a3% JHA 1,103,120
OIMSHE B RAAI (HEALS) 500,000 500,000 0
403 X SHHMSAH=01H 500,000 500,000
01 AXISHHA =22 £ 500,000 500,000
Octdet 2aligtd &y 500,000
SYFUE L (HEAY) 28,610,000 20,350,000 8,260,000
403 MR HSAE01H 28,610,000 20,350,000 8,260,000
01 XXM 22 £ 28,610,000 20,350,000 8,260,000
OGS ZEAE 28,610,000
SoHEAIY =&l 100,000 100,000
403 AXIEHHSAH=201H 100,000 100,000
01 AR A= 2 £ 100,000 100,000
ORuSHEHH EXIXSH 100,000
A2t UXAIE LXI(HEAY) 500,000 600,000 100,000
AEHSA=0IA 500,000 600,000 100,000
ANHA=2 2L 500,000 600,000 100,000
dlsegt BAAE 23 500,000
23 SEgl 500,000 0 500,000
e 500,000
ISAH=01d 500,000 0 500,000
ES 500,000
JIXt=2 22X 500,000 0 500,000
B2 2dad gAY 500,000
EN 500,000
NSt 5,640,000 3,124,000 2,516,000
wsSoHsE 2 2,250,000 3,074,000 824,000
306 E¢= 2,250,000 2,074,000 176,000
01 £g= 2,250,000 2,074,000 176,000
Ousg+d 29 2,250,000
SE2AUSI SSIDX =8 (HEAIY) 3,000,000 0 3,000,000
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